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Directions (1-5) Read each sentence to find out whether
there is any grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence.
The number of that part is the answer. If there is ‘No
error’, the answer is (D). (Ignore errors of punctuation, if

any).

1. The sharply diverging price trends (A)/ within the CPI
basket is likely to put the Monetary Policy Committee
(MPC) in (B)/ a quandary on its rate actions in the
coming months. (C)/ No error (D)

2. The new building will have three floors. While (A)/ one
floor would be used as departure and as service area,
the other floors would be used for access for the
terminal (B)/ building and for arrival of passengers, and
as waiting lounge for international passengers, the
airport director said. (C)/ No error (D)

3. The company management headed by GVK Reddy
will (A)/ seek shareholders nod for enabling resolutions
which will permit it to merge the (B)/ airports business,
raise funds through divestment and also come out with
a IPO. (C)/ No error (D)

4. According to Essel Infra projects Ltd CEO and Whole
Time Director Rohit Modi, the total (A)/ enterprise value
of four transmission projects divested to Sekura Energy
is 6,000 crore. The sale is part of Essel Group’s (B)/
plan to expand its footprint in the emerging
infrastructures sectors such as water, railways,
municipal solid waste. (C)/ No error (D)

5. ArcelorMittal was holding (A)/ a significantly stake in the
two companies before divesting in February to make
itself eligible to bid for Essar Steel. However, the
Supreme Court had (B)/ said the company cannot
absolve its liability by selling its stake. (C)/ No error (D)

Directions (6-10) In questions below, there is one statement
consisting of two blanks. You have to choose the option
which provides the correct set of words that fits both the
blanks appropriately and in the same order making
them meaningful and grammatically correct.

6. Banks seem to have cold feet to the idea as
the Reserve Bank of India (RBI) as well as the
government so far not indicated their
contribution to the Fund.

(A) Make, have (B) Made, has
(C) Constructed, had (D) Developed, have
7. In a bid to expand the digital payments eco-system and

the move towards cashless transactions in
the wake of scrapping of the old Rs. 500 and Rs. 1,000
bank notes, the government wants banks to ramp up
of Po’s terminals.
(A) Facilitate, installation ~ (B) Aggravate, conversion
(C) Provide, making (D) Facilitate, destruction

8. There is no drastic in revenues as
commercial production hasn’'t started. Even after the
stake-sale, the interest outgo will continue to be much

than the revenues.”
(A) Refinement, high (B) Increment, greater
(C) Improvement, higher (D) Improvement, bigger

9. The weakness of the banking sector got further
exposed post demonetization, as it coped

huge queues at ATMs and branches, and the RBI
new currency allocation to them.

10.

(A) With, rationed (B) Up, made
(C) Up with, minted (D) With, tried
There no justification in insisting on data

localization in areas like e-commerce and cloud
computing. But there may be a case for adopting data

localization in few sensitive like financial
services.

(A) Is, stores (B) Is, sectors

(C) Are, sectors (D) Are, firms

Directions (11-15) In each of the questions, four alternatives

11.

12.

13.

14.

15.

are given for the Idiom/Phrase. Choose the alternative
which best expresses the meaning of the Idiom/Phrase.

To bring one’s eggs to a bad market

(A) To face a humiliating situation

(B) To bring one’s commodities to a market where there
is no demand for them

(C) To show one’s talents before audience which is
incapable of appreciating them

(D) To fail in one’s plans because one goes to the
wrong people for help

To be above board

(A) To have a good height

(B) To be honest in any business
(C) To have no debts

(D) To try to be beautiful

To throw down the glove
(A) To give a challenge
(B) To accept immediately
(C) To be hopeless

(D) To be in dilemma

Set the pace
(A) Fast pace (B) Slow rate of doing thing
(C) Provide a standard (D) Medium-pace ball

Short of something
(A) Amusing (B) Lacking
(C) Short in height (D) At a short distance

Directions (16-20) In the following Five questions, out of the

16.

17.

18.

19.

20.

four alternatives, choose the one which best expresses
the meaning of the given world and mark in the Answer
Sheet.

Brutal

(A) Sympathetic (B) Compassionate
(C) Humane (D) Savage
Stroll

(A) Walk (B) Jog

(C) Trat (D) Gallop
Eternal

(A) Time being (B) Forever
(C) Temporary (D) Short term
Adversity

(A) Familiarity (B) Misery
(C) Seniority (D) Spirituality
Revel

(A) Reveal (B) Revert
(C) Make Merry (D) Glory

Directions (21-25) In each of the questions, four alternatives
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21. To eat humble pic
(A) to apologize
(C) to show kindness

22. To play fast and loose
(A) to talk aloud
(C) to work hard

23. Pay a score
(A) to stay in jail
(C) to play dishonestly

24, in the nick of time
(A) at the exact time
(C) to late

25. Get the better of
(A) throw out
(C) defeat

(B) to request
(D) show weakness

(B) complete and safe
(D) to act unreliably

(B) avenge in injury
(D) quarrel

(B) in advance
(D) long before time

(B) opposite in views
(D) inflict wounds

Direction (26-35) In the following question, out of the four
given alternatives, select the one which is opposite in

meaning of the given word.

26. Launch
(A) Cast
(C) Hold

27. Dampen

(A) Dry
(C) Rinse

28. Compact
(A) Hard
(C) Slack

29. Massive
(A) Large
(C) Solid

30. Vulnerable
(A) Sensitive
(C) Secure

31. Validate
(A) Pass
(C) Corroborate

32. Squander
(A) Hoard
(C) Collect

33. Sulky
(A) Soft
(C) Trustful

34. Cardinal
(A) Essential
(C) Unnecessary

35. Stingy
(A) Smelling
(C) Wasteful

(B) Eject
(D) Project

(B) Spray
(D) Wet

(B) Firm
(D) Tight

(B) Gross
(D) Little

(B) Liable
(D) Weak

(B) Engage
(D) Discredit

(B) Frivol 36.

(D) Defeat

(B) Happy
(D) Dismal

(B) Auxiliary
(D) Negligible

(B) Miser 37.

(D) Dirty

Direction (36-40) Read the following passage carefully and
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answer the questions given below it. Certain words/
phrases have been printed in bold to help you locate
them while answering some of the questions.

The rupee, which is currently the worst-performing
currency in Asia, is finally receiving some help from the
authorities. The Union government, after a meeting with
Reserve Bank of India Governor Urjit Patel, on Friday
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announced a list of measures to arrest the sharp
decline in the currency, which has lost about 12% of its
value since the beginning of the year. These include
steps to curb the import of non-essential goods and
encourage the export of domestic goods, which will
help in addressing the country’s burgeoning current
account deficit that hit a five-year high in July. Other
steps such as removing restrictions on foreign portfolio
investments and encouraging Indian borrowers to issue
rupee-denominated ‘masala bonds’ were also
announced to facilitate the inflow of dollars and de-risk
the economy from fluctuations in the exchange rate.
Further, the term Ilimit imposed on borrowings of
manufacturing companies is to be shortened further in
order to curb dollar demand. The response to the move
from the markets will need to be carefully tracked. Even
before the official announcement on Friday, the rupee
withessed some recovery against the dollar amidst
hopes of favorable government intervention, while
stocks and bonds also recovered.

These steps to strengthen the rupee in the short term
are welcome, given the large-scale outflow of capital
from emerging markets to the West. These ad hoc
steps to avoid an immediate crisis in the external
sector, however, should not deflect attention from the
more fundamental reasons behind the decline of the
rupee. India has been unable to boost exports over the
years for various reasons. At the same time, it has been
unsuccessful in finding sustainable domestic sources of
energy to address the over-reliance on oil imports. This
has meant that the rise in the price of oil has
traditionally exerted tremendous stress on the current
account deficit and the currency, as is happening now.
The government needs to think of a long-term plan to
boost exports, preferably through steps that remove
policy barriers that are impeding the growth of export-
oriented sectors, in order to find a sustainable solution
to the problem of the weakening rupee. The
depreciating rupee is also a symptom of persistently
higher domestic inflation in India over many decades.
For example, in line with vastly different inflation rates
in India and the U.S., the rupee has lost about 60% of
its value in the last 10 years against the dollar. So this
problem cannot be addressed without drastic changes
in the style of monetary policy conducted by the RBI,
which is an unlikely proposition. Until then, the best that
can be hoped for is a steady drop in the value of the
rupee without any drastic shocks to the economy.

What solution has been offered to strengthen the
marred Indian currency?

(A) The Gov has asked the US for some aid which may
ultimately improve the Indian currency.

(B) China has been asked to support the declining
currency as it is the sole reason of the problem.

(C) Steps will be taken to reduce the import of non-
essential goods and encourage the export of domestic
goods.

(D) The new monetary policy will revive and boost the
declining currency.

Why the government has retrained the restrictions on
foreign portfolio?

(A) Because the foreign companies had restricted the
import export flow.

(B) Because this will ease the deals made with foreign
companies which will help improving the declining
currency.

(C) Because the stringent norms were hampering the
growth of Indian economy.

(D) Not mentioned in the passage.
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38.

39

40

What could be the appropriate title for the given
passage?

(A) The declining rupee

(B) The rupee problem

(C) The dying Indian currency

(D) Perturbing economy

Choose the word or group of words which is MOST
NEARLY THE SAME in meaning as the words printed
in bold.
BURGEONING
(A) Expanding
(C) Relenting

(B) Relieving
(D) Dwindling

Choose the word or group of words which is MOST
NEARLY THE OPPOSITE in meaning as the words
printed in bold.
IMPEDING
(A) Hinder
(C) Supporting

(B) Obstruct
(D) Hamper

Direction (41-50) In the following questions, out of the four

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.
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alternatives choose the one which can be substituted
for the given words/ sentence.

A man who does not know how to read or write.
(A) Learned (B) llliterate
(C) Poor (D) Dumb

A man who knows a lot about things like food, music
and art.

(A) Veteran
(C) Acrobat

(B) Humanist
(D) Connoisseur

A man who waste his money on luxury
(A) Extravagant (B) Extempore

(C) Thrifty (D) Miser

A man with abnormal habits.

(A) Lunatic (B) Eccentric
(C) Absurd (D) Profane

A medicine to nullify the effect of poison.
(A) Antidote (B) Antibody
(C) Antigen (D) Antibiotic

A method which never fails.
(A) Boon
(C) Paradigm

(B) Verbatim
(D) Infallible

A mild or indirect expression substituted for an
offensive or harsh one.
(A) Wriggle

(C) Euphemism

(B) Sacrilege
(D) Linguist

A mournful poem or a song.
(A) Epic
(C) Ode

(B) Elegy
(D) Hymn

A narrow stretch of land connecting two large bodies of
land.

(A) Peninsula
(C) Strait

(B) Island
(D) Isthmus

A notice of a person’s death.
(A) Obituary
(C) Ablution

(B) Observatory
(D) Death Warrant

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.
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Part - B

On imprisonment in 1908 by the British, Bal Gangadhar
Tilak was sent to -

(A) Andaman and Nicobar (B) Rangoon

(C) Singapore (D) Mandalay

Who said, "A living thing is born" after the League of
Nation's Covenant was drafted?

(A) Winston Churchill (B) Woodrow Wilson

(C) Napoleon Bonaparte (D) Benito Mussolini

Which among the following Mughal Emperor was
illiterate?
(A) Shah Jahan
(C) Akbar

(B) Aurangzeb
(D) Babur

The founder of the Parsi religion-
(A) Laotse (B) Kung-fu-su
(C) Joroster (D) Mikado

Who was the founder of the Sayyid dynasty?
(A) Khizr Khan (B) Mubarak shah
(C) Mohammad shah (D) Alam shah

Which of the following pairs is not correctly matched?
(A) Hector Munro - Battle of Buxar

(B) Lord Hastings — Anglo — Nepal War

(C) Lord Wellesley - Fourth Anglo- Mysore War

(D) Lord Cornwallis - Third Anglo - Maratha War

Mahatma Gandhi advocated a
(A) Local (B) Centralized
(C) Decentralized (D) Global

economy.

Which one of the following was the first English ship
that came to India?
(A) Elizabeth

(C) Red Dragon

(B) Bengal
(D) Mayflower

Which of the following statements is incorrect about
Buddhism?

(A) The birth place of Buddha is Vaishali

(B) It upheld the belief in rebirth.

(C) It denied the doctrine of the Law of Karma.

(D) Many of its principles are also found in Upanishads.

What was the main goal of the Wahabi movement?
(A) Re-establishment of Muslim power in India

(B) Strengthening Hindu Muslim Unity in India

(C) Encourage modern education in India's Muslims
(D) All of the above

Consider the following statements:

1. Dyer was responsible for the Jallianwala Bagh
massacre.

2. The Jallianwala Bagh massacre, also known as the
Amritsar massacre, took place on 13 April 1919.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Raj Singh, vish viriksh was written by Bankim
Chandra Chatterjee.

2. Sarat Chandra wrote novel Srikanta, Devdas.

Which of the statements given above is/are NOT
correct?

(A) 1 only

(C) Both 1 and 2

(B) 2 only
(D) Neither 1 nor

Consider the following statements:
1. Sikandar Lodi established the Agra city.
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64. Consider the following statements:
1. The founder of the Tughlaq dynasty was Muhammad
bin Tughlu.
2. Ghiyasuddin Tughlaq had a tense relationship with
Sheikh Nizamuddin Auliya. 77.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C)Both1and 2 (D) Neither 1 nor 2
65.  Arrange the following in chronological order:
1. Warren Hastings 2. Clive
3. Lord Cornwallis 4. Lord Wellesley 78.
A)4,3,2,1 B)1,2,3,4
(©)3,14,2 (D) 2,134
66. The countries that are members of the European Union,
but not members of the euro zone are.
(A) Luxembourg, Netherlands and Albania
(B) Armenia, Belarus and Portugal 79.
(C) Czech Republic, Malta and Finland
(D) Romania, Sweden and Bulgaria
67.  The map originated from word ‘Mappa’, which language
is it?
(A) German (B) English
(C) Latin (D) Hindi
68.  Which one of the following countries of South-West
Asia has not spread to the Mediterranean Sea?
(A) Syria (B) Jordan
(C) Lebanon (D) Israel 80.
69.  Turkey is located in which of the following?
(A) Black Sea and Caspian Sea
(B) Black Sea and Mediterranean Sea
(C) Gulf of Suez and Mediterranean Sea
(D) Gulf of Agaba and Dead Sea
81.
70.  Where India is located of the following?
(A) Southwest Asia (B) South Asia
(C) Southeast Asia (D) Central Asia
71. Equator represents .
(A) Imaginary line passing round the Earth midway
between North and South poles.
(B) Line joining North and South poles
(C) A belt (ring) around the planet Saturn 82.
(D) Axis of rotation of Earth
72. From the point of view of river and canal length, who is
the first place in all the states of India?
(A) Madhya Pradesh (B) Uttar Pradesh
(C) Andhra Pradesh (D) Kerala
73.  Which state is the first place in storage of salt water in
the states of India?
(A) Odisha (B) Guijarat 83.
(C) Kerala (D) West Bengal
74.  Which of the following draining system is not of Indus
system?
(A) Sutlej (B) Rapti
(C) Chenab (D) Jhelum
75. Indian standard time line passes through which of the
following city? 84.
(A) Ahmadabad (B) Bhopal
(C) Allahabad (D) Kolkata
App :- http://bitly/TesMusPrime 5|Page

2. The founder of the Lodi dynasty was Bahlol Lodi. 76.

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C)Both1and 2 (D) Neither 1 nor 2

Consider the following statements:
1. Columbus discovered the
continent.

2. Victoria Falls is located on the Zambezi River.

3. The stream of California, Peru is a cold stream.
Which of the statements given above is/are correct?
(A) 1 only (B) 1 and 2 only

(C) 1 and 3 only (D)1,2and 3

northern America

Consider the following statements:

1. Length of 1 degree latitude is 110.569km on Equator.
2. This length is 111.7 km on the poles.

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Earth rotates 15 degrees in one hour.

2. Earth revolves from west to east.

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. India's standard Meridian line 82 (1/2° east
longitudes have been considered. This passes through
Allahabad (Prayagraj).

2. India's total Longitude expansion is approximately
300,

3. India’s standard time is 5 hours 30 minutes ahead of
Greenwich standard time.

Which of the statements given above is/are correct?

(A) 1 only (B) 1 and 2 only

(C) 1 and 3 only (D)1,2and 3

Consider the following statements:

1. Jelep La connects Sikkim with Tibet.

2. Bara-lacha la connects Himachal Pradesh to Leh.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Nicotina tubecam and nicotina rustica are the main
varieties of tobacco.

2. In India, two varieties of coffee are produced-
Arabica and Robusta.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. In 1798 AD, East India Company started production
of coffee experimentally.

2. Business production of coffee commences from India
in 1820 AD.

Which of the statements given above is/are NOT
correct?

(A) 1 only

(C) Both 1 and 2

(B) 2 only
(D) Neither 1 nor 2

Consider the following statements:

1. The mars planet's satellite is Phobos and Demos.

2. On Mars, the highest mountain in the Solar System is
Nix Olympia.

3. Nix Olympia is three times higher than the Everest.
Which of the statements given above is/are correct?

(A) Only 1 (B) 1 and 2 only

(C) 1 and 3 only (D)1,2and 3

Consider the following statements:
1. India has about 2.45 percent of the world's surface
area and 4 percent of water resources.
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2. About 16 percent of world population is found in 95.
India.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C)Both1and 2 (D) Neither 1 nor 2
85. Consider the following statements:
1. Planet word is made of the Greek word 'Planetai'.
2. Mercury planet has the highest daily temperature
difference.
3. Venus is also called the sister planet of the Earth. 96.
Which of the statements given above is/are correct?
(A) Only 1 (B) 1 and 2 only
(C) 1 and 3 only (D)1,2and 3
86. Consider the following statements-
1. There is no power to reject or amend the Money Bill 97.
in the Rajya Sabha.
2. Rajya Sabha cannot vote on the demands of grants.
3. Annual financial statements cannot be discussed in
Rajya Sabha
Which of the statements given below is / are true? 98.
(A)land?2 (B)2and 3
(©)1and3 (D)1,2and 3
87. ‘Rule of Law’ concept has been taken in the Indian
Constitution from?
(A) USA (B) England
(C) Switzerland (D) Ireland
99.
88.  74™ Amendment of the Constitution is related to.
(A) Rural Local Self-Government
(B) Urban Local Self-Government
(C) Powers of the President
(D) Powers of the Parliament
100.
89.  Which Part of the Constitution has the provisions for
Panchayati Raj System?
(A) IX (B) VI
©) (D) IV
90. The joint sitting of the Lok Sabha and the Rajya Sabha
of states is summoned by? 101.
(A) The President
(B) The Speaker of the Lok Sabha
(C) The Parliament
(D) The Chairman of the Rajya Sabha
91. Consider the following statements:
1. Uttar Pradesh and Bihar have their Legislative
Council. 102.
2. Delhi and Puducherry, also have their Legislative
Assemblies.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2
92.  Who carries out notification for the election of the Lok 103.
Sabha?
(A) Election Commission of India
(B) The President
(C) Home Ministry
(D) Lok Sabha Secretariat 104.
93.  Who among the following is the present Chairperson of
the National Commission for women?
(A) Girija Vyas (B) Rekha Sharma
(C) Malini Bhattacharya (D) Yasmeen Abrar 105.
94. The first hour of business of the Lok Sabha is known
as-
(A) Public hour (B) Privileges hour
(C) Zero hour (D) Question hour
App :- http://bitly/TesMusPrime 6|Page

Consider the following statements:

1. Sunil Arora is the chief election commissioner of
India.

2. The tenure of chief election commissioner is 6 years
or up to 65 years of age.

Which of the statements given above is/lare NOT
correct?

(A) 1 only

(C) Both 1 and 2

(B) 2 only
(D) Neither 1 nor 2

Which law states that for every 1% increase in the
unemployment rate, a country's GDP will be roughly an
additional 2% lower than its potential GDP?

(A) Okun's law (B) Phillips curve

(C) Friedman’s law (D) Marshall’s law

In the year 1943, the United States established an
International Fund which is known as ?

(A) White plan (B) Keynes plan

(C) Walker plan (D) Smith plan

If the firm has zero costs or only has
fixed cost, the quantity supplied in equilibrium is given
by the point where the marginal revenue is zero.

(A) Perfect Competition

(B) Monopoly

(C) Oligopoly

(D) Monopolistic Competition

What is the full form of IMPS in banking sector?
(A) Intermediate Payment Service

(B) International Payment Service

(C) Initial Payment Service

(D) Immediate Payment Service

Consider the following statements:

1. The kharif cropping season is from July to October.
2. The rabi cropping season is from October to March.
Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

are such substance which when placed
in a magnetic field acquire a feeble magnetism in the
direction of the field.
(A) Diamagnetic substance
(B) Paramagnetic substance
(C) Ferromagnetic substance
(D) All of the above

The force acting on an object does not produce which
one of the following effects?

(A) Change in the size of the object

(B) Change in the shape of the object

(C) Change in the temperature of the object

(D) Change in the motion state of the object

Which one of the following is not the fundamental
international system quantity?

(A) Length (B) Amount of substance
(C) Luminous intensity (D) Torque

The coil wire in the electric room heater or electric
cooking heater is called
(A) Circuit

(C) Filament

(B) Element
(D) Cells

The bending of light when it passes around a corner or
a slit is due to
(A) Reflection
(C) Diffraction

(B) Refraction
(D) Total internal reflection
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106. When an object revolves around its axis, then what is 120.
its speed called?
(A) Linear motion (B) Circular motion
(C) Rotational motion (D) Oscillation speed
107. When an object moves on both sides of its mean
position, then this type of motion is called?
(A) Oscillation speed (B) Circular motion 121
(C) Rotational motion (D) Linear motion .
108. How many dynes in a Newton?
(A) 1000 (B) 10000
(C) 100000 (D) 1000000
109. A rotational motion rotates a particle with certain angle 122.
in a second, it is called the of the patrticle.
(A) Angular velocity (B) Linear velocity
(C) Centripetal Acceleration (D) Centrifugal Force
123.
110. When we tied a piece of stone with one end of the
string, then we have to put a strain on the string, this
strain work as?
(A) Centripetal force (B) Centrifugal force
(C) Balanced force (D) Unbalanced force
111. Which one of the following materials is ferromagnetic? 124
(A) Gold (B) Nickel :
(C) Wood (D) Manganese
112. When a glass rod is rubbed with silk then which type of
charge is created on it? 125.
(A) Electric charge (B) Positive charge
(C) Negative charge (D) None of the above
113. The speed of sound is maximum in.
(A) Air (B) Water
(C) Vacuum (D) Steel
. . w . 126.
114. Momentum of a particle of mass m is p. Its kinetic
energy will be.
(A) mp (B) p2m
(©) p2/m (D) p2 I2m
. . - . . 127.
115. Which physical unit is obtained by the ratio of
momentum and velocity of matter?
(A) Velocity (B) Acceleration
(C) Mass (D) Force 128.
116. Which one of the following common devices works on
the basis of the principle of mutual induction?
(A) Tube light (B) Transformer 129.
(C) Photodiode (D) Led
117. Intensity of sound at a point is its distance from
the source.
(A) Directly proportional to 130.
(B) Inversely proportional to
(C) Directly proportional to square of
(D) Inversely proportional to square of 131
118. What is the name of the nuclear reactor at trombay?
(A) Bhaba (B) Venus
(C) Aryabhatta (D) Apsara
119. Light from the star, Alpha Centauri, which is nearest to
the earth after the sun, reaches the earth in
(A) 4.2 seconds (B) 42 seconds
(C) 4.2 years (D) 42 years
132.
App :- http://bitly/TesMusPrime 7|Page

Mirage is due to
(A) Unequal
atmosphere

(B) Magnetic disturbances in the atmosphere

(C) Depletion of ozone layer in the atmosphere

(D) Equal heating of different parts of the atmosphere

heating of different parts of the

Metals are good conductors of electricity because
(A) They contain free electrons

(B) The atoms are lightly packed

(C) They have high melting point

(D) All of the above

Magnetism at the Centre of a bar magnet is
(A) Maximum (B) Minimum
(C) Zero (D) All The above

out of the following, which is not emitted by radioactive
substance?

(A) Electrons

(B) Electromagnetic radiations

(C) Alpha particles

(D) Neutrons

Lux is the Sl unit of
(A) Intensity of illumination (B) luminous efficiency
(C) luminous flux (D) luminous intensity

Point A is at a lower electrical potential than point B. An
electron between them on the line joining them will

(A) Move towards A

(B) Move towards B

(C) Move at right angles to the line joining A and B

(D) Remain at rest

The process of heating the ore above its melting point
in excess of air to obtain pure metal known as

(A) Rusting (B) Smelting

(C) Roasting (D) Calcination

Non luminous zone is which part of gas flame:
(A) Outer part (B) Inner part
(C) Hottest part (D) Darkest part

Which of the following is less harm to catch fire?
(A) Nylon (B) Terry cot
(C) Cotton fabric (D) Polyester

Carboplatin a cancer drug is a compound of which of
the following metals?

(A) Silver (B) Radium

(C) Platinum (D) Magnesium
The most malleable metal is:

(A) Platinum (B) Silver

(C) Lithium (D) Gold

Consider the following statements:

1. The plastic materials which become soft after heating
again and can be fitted repeatedly in any desired
shape, they are called thermoplastic.

2. Polyvinyl chloride is an example of thermosetting
plastic.

Which of the statements given above is/are NOT
correct?

(A) 1 only

(C) Both 1 and 2

(B) 2 only
(D) Neither 1 nor 2

Which of the following gases soluble in rainwater
causes acidic?
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133.

134.

135.

136.

137.

138.

139.

140.
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(A) Hydrogen peroxide
(C) Carbon dioxide

(B) Nitrogen monoxide
(D) Sulphur dioxide

Greenhouse gas, which is present in the highest
guantity in atmosphere, is.
(A) Propane

(C) Carbon dioxide

(B) Ethane
(D) Methane

Which one of the following is not used to making glass?
(A) CaOClz (B) Na2COs3
(C) CaCOs (D) SiO2

Lemon is classified as a type of fruit mainly because it
contains seeds. Leamon fruit is rich source of

(A) Tartaric acid (B) Malic acid

(C) Citric acid (D) Acetic acid

Consider the following statements:

1. German silver is an alloy of copper, zinc, and nickel.
2. Stainless steel is an element.

Which of the statements given above is/are NOT
correct?

(A) 1 only

(C) Both1and 2

(B) 2 only
(D) Neither 1 nor 2

Consider the following statements:

1. Zinc displaces copper and silver from solutions of
their salts.

2. Zinc has a lower oxidation potential than copper and
silver.

Which of the statements given above is/are NOT
correct?

(A) 1L only

(C) Both1and 2

(B) 2 only
(D) Neither 1 nor 2

Consider the following statements:

1. The solutions that follow Raoult's law are called ideal
solutions.

2. The solutions that do not follow the Raoult’s law, is
called Non-ideal solution.

Which of the statements given above is/are correct?

(A) 1L only (B) 2 only

(C)Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Metals react with sodium hydroxide to produce
hydrogen gas.

2. Calcium hydroxide base is present in lime water.
Which of the statements given above is/are correct?

(A) L only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:
1. Galena is the mineral of aluminum.

141.

142.

143.

144,

145.

146.

147.

148.

149.

150.

2. Sulphuric acid is used in the production of
explosives.

Which of the statements given above is/are NOT
correct?
(A) 1 only

(C) Both 1 and 2

(B) 2 only
(D) Neither 1 nor 2

Which of the following corm is formed underground
stem?

(A) Onion
(C) Potato

(B) Zinger
(D) Crocus

Which of the following is not the type of modification of
stem?

(A) Sub-aerial modification

(B) Underground modification

(C) Aerial modification

(D) Epiphytic modification

Which of the following is called the aerial modification of
stem?

(A) Rizome

(C) Stem tendril

(B) Bulb
(D) Corm

Which of the following is not the part of flower?
(A) Scion (B) Calyx
(C) Androecium (D) Gynoecium

Which one of the following is the monocotyledon plant?
(A) Mustard (B) Maize
(C) Pea (D) pigeon pea

In which of the following Bulb underground stem is
formed?

(A) Onion
(C) Potato

(B) Zinger
(D) Crocus

Which of the following is called the aerial modification of
stem?

(A) Rizome

(C) Phylloclade

(B) Bulb
(D) Corm

Which of the following is the male part of the flower?
(A) Calyx (B) Androecium
(C) Gynoecium (D) Corolla

The conditions required for germination of seeds are-
(A) Wind (B) Water
(C) Proper heating (D) All of these

What is Rainwater Harvesting?

(A) Collection and storage of used water
(B) Collection and storage of rainwater
(C) Distribution of water

(D) None of the above

Space for rough work
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Part - A
Ans.1(B) Ans.2(B) Ans.3(C)
Ans.4(C) Ans.5(A)
Ans.6(D) Developed, have Ans.55(A)
Ans.7(A) Facilitate, installation
Ans.8(C) Improvement, higher
Ans.9(A) With, rationed
Ans.10(B) s, sectors Ans.56(C)
Ans.11(D) To fail in one’s plans because one goes to the
wrong people for help
Ans.12(B)  To be honest in any business
Ans.13(A) To give a challenge
Ans.14(C)  Provide a standard
Ans.15(B) Lacking
Ans.16(D) Savage Ans.57(C)
Ans.17(A) Walk
Ans.18(B)  Forever
Ans.19(B)  Familiarity
Ans.20(D)  Glory Ans.58(C)
Ans.21(A) to apologize
Ans.22(D) to act unreliably
Ans.23(B) avenge in injury
Ans.24(A) at the exact time
Ans.25(C) defeat
Ans.26(A) Hold
Ans.27(A) Dry
Ans.28(C)  Slack Ans.59(A)
Ans.29(D) Little
Ans.30(C) Secure
Ans.31(C) Corroborate Ans.60(A)
Ans.32(B)  Frivol
Ans.33(D) Dismal
Ans.34(A) Essential
Ans.35(B)  Miser
Ans.36(C)  Steps will be taken to reduce the import of non- Ans.61(C)
essential goods and encourage the export of
domestic goods.
Ans.37(B) Because this will ease the deals made with
foreign companies which will help improving the
declining currency.
Ans.38(B) The rupee problem 22225%8
Ans.39(A) Expanding
Ans.40(C)  Supporting
Ans.41(B) llliterate
Ans.42(D)  Connoisseur
Ans.43(A)  Extravagant
Ans.44(B) Eccentric
Ans.45(A)  Antidote Ans.64(B)
Ans.46(D) Infallible
Ans.47(C)  Euphemism
Ans.48(B) Elegy
Ans.49(D) Isthmus Ans.65(D)
Ans.50(A)  Obituary
Part - B
Ans.51(D) Tilak was sentenced to a jail term from 1908 to Ans.66(D)
1914 in Mandalay in Burma. While in prison,
Tilak read and wrote extensively and developed
his ideas on the Indian nationalism movement.
Ans.52(B) Woodrow Wilson said, “A living thing is born”
after the League of nation’s Covenant was
drafted. Woodrow Wilson (28 December 1856 —
3 February 1924) was an American 28th Ans.67(C)
President of the United States from 1913 to
1921.
Ans.53(C) Mohammad Akbar, (born October 157, 1542,
Umarkot [now in Sindh province, Pakistan]—
died c. October 25, 1605, Agra, India), the
greatest of the Mughal emperors of India. and Ans.68(B)
he remained illiterate.
Ans.54(C) The Parsi religion is the ancient Indo-European
religion of Zarathushta the prophet Zoroaster
App :- http://bitly/TesMusPrime 1|Page

(zarathrustra in ancient Persian) is regarded as
the founder of Zoroastrianism, which is arguably
the world's oldest monotheistic faith.

The Sayyid Dynasty was founded by Khizr
Khan, who was the governor of Multan and
Timur's deputy in India. This dynasty ruled for 37
years from 1414 to 1451 AD by four rulers- Khizr
Khan, Mubarak, Muhammad Shah, Alam Shah.
Lord Wellesley. Lord Wellesley remained
Governor General of Fort Williams from 1798 to
1805. During his tenure, the Fourth and last
Anglo- Mysore war was fought and Tipu was
killed in this war. The Second Anglo Maratha
war also happened in which Bhonsle, Scindia
and Holkar were

Gandhi strongly advocated decentralization of
economic system. liberal socialists emphasized
the concept of decentralization of economic and
political.

The first English ship or east India company was
'MALICE SCOURGE' which was constructed in
the year 1595. Its owner was Earl of
Cumberland. In the year 1601 its name got
changed as 'RED DRAGON'. East India
company used this ship for nearly five voyages
to east Indies.

Siddhartha Gautama, the Lord Buddha, was
born in 623 B.C. in the famous gardens of
Lumbini, which soon became a place of
pilgrimage.

The main objective of the Wahabi movement
which during 1852-70 was particularly active in
the Punjab, Bengal, Bihar and the NWFP was to
overthrow the Sikhs in the Punjab and the British
in Bengal and to restore Muslim power in India.
Brigadier-general Dyer was responsible for the
Jallianwala Bagh massacre in Amritsar (in the
province of Punjab). The Jallianwala Bagh
massacre, also known as the Amritsar
massacre, took place on 13 April 1919,

Both is correct.

The Lodi dynasty was an Afghan dynasty that
ruled the Delhi Sultanate from 1451 to 1526. It
was the last dynasty of the Delhi Sultanate, and
was founded by Bahlul Khan Lodi when he
replaced the Sayyid dynasty. and Sikandar Lodi
established the Agra city.

Ghiyath al-Din Tughlug was the one who
founded the Tughlaq dynasty in India. The
founders' real name was Ghazi Malik and he
ruled from 1320 - 1325. He founded the city of
Tughlagabad outside Delhi. (1320 to 1414)
Chronological order:
1. Clive 2. Warren Hastings

3. Lord Cornwallis 4. Lord Wellesley

Nine countries (Bulgaria, Croatia, Czech
Republic, Denmark, Hungary, Poland, Romania,
Sweden, and the United Kingdom) are EU
members but do not use the euro. Before joining
the eurozone, a state must spend two years in
the European Exchange Rate Mechanism (ERM
).

The word "map" comes from the medieval Latin
Mappa mundi, wherein mappa meant napkin or
cloth and mundi the world. Thus, "map" became
the shortened term referring to a two-
dimensional representation of the surface of the
world.

The countries surrounding the Mediterranean in
clockwise order are Spain, France, Monaco,
Italy, Slovenia, Croatia, Bosnia and
Herzegovina, Montenegro, Albania, Greece,
Turkey, Syria, Lebanon, Israel, Egypt, Libya,
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Ans.69(B)

Ans.70(C)

Ans.71(A)

Ans.72(C)

Ans.73(A)

Ans.74(B)

Ans.75(C)

Ans.76(D)

Ans.77(C)

Ans.78(C)

Ans.79(D)

Ans.80(C)
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Tunisia, Algeria, and Morocco; Malta and Cyprus
are island countries in the sea.

Turkey is situated in Western Asia (Anatolian
and Armenian highlands) and the Balkans,
between Mediterranean Sea and the Black Sea.
India is situated in South- East Asia and is
bordered by Afghanistan and Pakistan to the
north-west; China, Bhutan and Nepal to the
north; Myanmar to the east; and Bangladesh to
the east of West Bengal.

An equator is an imaginary line around the
middle of a planet or other celestial body. It is
halfway between the North Pole and the South
Pole, at 0 degrees latitude. An equator divides
the planet into a Northern Hemisphere and a
Southern Hemisphere. The Earth is widest at its
Equator.

The brackish water lagoon in Odisha state is the
largest coastal lagoon in India and Asia's biggest
salt water lake. Chilika Lake is home to a
number of migratory birds coming to India and
first Indian wetland of international importance.
Indus river left bank tributary is the Panjnad
which itself has five major tributaries, namely,
the Chenab, Jhelum, the Ravi, the Beas, and the
Sutlej. Its principal right bank tributaries are the
Shyok, the Gilgit, the Kabul, the Gomal, and the
Kurram.

Indian Standard Time is calculated on the basis
of 82.5 longitude in the city of Mirzapur
(Allahabad), Uttar Pradesh.

Christopher Columbus was the first explorer to
"discover" America.

Victoria Falls, ("The Smoke that Thunders") is a
waterfall in southern Africa on the Zambezi River
at the border between Zambia and Zimbabwe.
The Humboldt Current, also called the Peru
Current, is a cold, low-salinity ocean current that
flows north along the western coast of South
America.

Each degree of latitude is approximately 69
miles (111 kilometers) apart. The range varies
(due to the earth's slightly ellipsoid shape) from
68.703 miles (110.567 km) at the equator to
69.407 (111.699 km) at the poles.

360 degrees in a full rotation, divided by 24
hours is 15 degrees an hour. 60 minutes in an
hour divided by fifteen degrees an hour is four
minutes.

When viewed above the North Pole, the Earth
rotates counterclockwise, from west to east. This
is also called a prograde rotation. Because of
this direction of rotation, we see the sun rising
every day in the east and setting in the west.
82°30' East longitude is taken as the Standard
Time Meridian of India or reference letters
longitude for IST, as it passes through the
middle of India (from Mirzapur, near Allahabad).
Indian Standard Meridian (82°30'E meridian)
passes through UP, MP, Chhatisgarh, Orissa
and Andhra Pradesh.

The country is situated north of the equator
between 8°04' to 37°06' north latitude and 68°07'
to 97°25' east longitude. (30 longitude
APPROX.)

India Standard Time (IST) is 5:30 hours (5 hours
30 minutes) ahead of Greenwich Mean Time.
Indian Standard Time was adopted on 1
September 1947.

Jelep La or Jelep Pass elevation 4,267 m or
13,999 ft, is a high mountain pass between East

Ans.81(C)

Ans.82(D)

Ans.83(D)

Ans.84(C)

Ans.85(D)

Ans.86(D)

Ans.87(B)

Ans.88(B)

Ans.89(A)

Ans.90(A)

Ans.91(C)
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Sikkim District, Sikkim, India and Tibet
Autonomous Region, China.

Bara-lacha la is a high mountain pass in
Zanskar range, connecting Lahaul district in
Himachal Pradesh to Leh district in Ladakh.

The two main varieties of coffee viz., Arabica
and Robusta are grown in India. Arabica is mild
coffee, but the beans being more aromatic, it
has higher market value compared to Robusta
beans. On the other hand Robusta has more
strength and is, therefore, used in making
various blends.

In India, coffee commercial plantations started
after 1820 in the south of the country with British
enterprise and investment.

Mars has two small satellites, Phobos and
Deimos (fear and terror), which were discovered
by the American astronomer Asaph Hall in 1877.
The highest mountain on Mars is also the
highest mountain and volcano in the entire solar
system. It is called Olympus Mons (formerly Nix
Olympica) and is 16 miles (24 kilometers) high
which makes it about three times higher than Mt.
Everest.

India accounts for about 2.45 per cent of world's
surface area, 4 per cent of the world's water
resources and about 16 per cent of world's
population. The total water available from
precipitation in the country in a year is about
4,000 cubic km.

The change in temperature on the surface of
Mercury is due to its rotation and lack of
atmosphere. During the day the temperature is
so high that it could melt some metals and
during the night the temperature drops well
bellow freezing.

Venus is a terrestrial planet and is sometimes
called Earth's "sister planet" because of their
similar size, mass, proximity to the Sun.

Rajya Sabha has no power either to reject or
amend a Money Bill. Rajya Sabha may discuss
the Annual Financial Statement. It has no power
to vote on the Demands for Grants. Also, Rajya
Sabha has no power to pass a vote of no-
confidence in the Council of Ministers.

England

74th Amendment and Municipalities in India.
Constitution (Seventy Forth Amendment) Act,
1992 has introduced a new Part IXA in the
Constitution, which deals with Municipalities in
an article 243 P to 243 ZG. This amendment,
also known as Nagar palika Act, came into force
on 1st June 1993.

Constitution 73rd Amendment and Panchayati
Raj in India. The 73rd Amendment 1992 added
a new Part IX to the constitution titled “The
Panchayats” covering provisions from Article
243 to 243(0); and a new Eleventh Schedule
introduced covering 29 subjects within the
functions of the Panchayats.

The joint sitting of the Parliament is called by the
President (Article 108) and is presided over by
the Speaker or, in his absence, by the Deputy
Speaker of the Lok Sabha or in his absence, the
Deputy-Chairman of the Rajya Sabha.

The Legislative Council (Hindi: Vidhan Parishad)
is the upper house in those states of India that
have a bicameral legislature; the lower house
being the State Legislative Assembly. Its
establishment is defined in Article 169 of the
Constitution of India. Delhi and Puducherry have
an elected legislative assembly and an
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Ans.92(A)

Ans.93(B)

Ans.94(D)

Ans.95(D)

Ans.96(A)

Ans.97(B)

Ans.98(B)

Ans.99(D)

Ans.100(C)

Ans.101(A)

Ans.102(A)
Ans.103(D)

Ans.104(B)

Ans.105(C)

Ans.106(C)
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executive council of ministers with partially state-
like function.

The Election Commission of India carries out
both the notification for elections to Lok Sabha,
conducts elections and counting and also
declares results.Therafter when all the results
are declared, the President of India notifies
formation of Lok Sabha and invites the
representative of majority party to form ministry.
Rekha Sharma (54) was appointed as
chairperson of the National Commission for
Women (NCW). Prior to this appointment, she
was member of the Commission and was
holding the additional charge of chairperson
after Lalitha Kumara Mangalam had demitted
office in September 2017.

The first hour of every sitting is called Question
Hour. Asking questions in Parliament is the free
and unfettered right of members, and during
Question Hour they may ask questions of
ministers on different aspects of administration
and government policy in the national and
international spheres.

Sunil Arora is the current 23rd Chief Election
Commissioner and the two  Election
Commissioners are Ashok Lavasa and Sushil
Chandra. The President appoints Chief Election
Commissioner and Election Commissioners.
They have tenure of six years, or up to the age
of 65 years, whichever is earlier.

Okun's law can also pertain to how a rise in
unemployment affects gross domestic product
(GDP), where a percentage increase in
unemployment causes a 2% fall in GDP. Arthur
Okun was a Yale professor and economist who
studied the relationship between unemployment
and production.

In the year 1943, the United States established
an International Fund which is known as Keynes
plan.

the Monopoly firm has zero costs or only has
fixed cost, the quantity supplied in equilibrium is
given by the point where the marginal revenue is
zero.

Immediate Payment Service (IMPS) is an instant
payment inter-bank electronic funds transfer
system in India. IMPS offers an inter-bank
electronic fund transfer service through mobile
phones.

The kharif cropping season is from July to
October and rabi cropping season is from
October to March.

Those substance which when placed in a
magnetic field are feebly magnetized in a
direction opposite to the magnetizing field are
called diamagnetic substances.

International System of Quantities. The
International System of Quantities (ISQ) is a
system based on seven base quantities: length,
mass, time, electric current, thermodynamic
temperature, amount of substance, and
luminous intensity.

The coil wire in the electric room heater or
electric cooking heater is called element circuit.
Diffraction is the slight bending of light as it
passes around the edge of an object. The
amount of bending depends on the relative size
of the wavelength of light to the size of the
opening.

Purely rotational motion occurs if every particle
in the body moves in a circle about a single line.
This line is called the axis of rotation. Then the

Ans.107(A)

Ans.108(C)

Ans.109(A)

Ans.110(A)

Ans.111(B)

Ans.112(A)

Ans.113(D)

Ans.114(D)

Ans.115(C)
Ans.116(B)

Ans.117(D)

Ans.118(D)

Ans.119(C)

Ans.120(A)

Ans.121(A)
Ans.122(C)
Ans.123(D)
Ans.124(A)

Ans.125(B)
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radius vectors from the axis to all particles
undergo the same angular displacement at the
same time.

Oscillatory motion can be termed as the
repeated motion in which an object repeats the
same movement over and over. In the absence
of friction, the oscillatory motion would continue
forever; but in the real world, the system
eventually settles into equilibrium.

Dyne, unit of force in the centimeter-gram-
second system of physical units, equal to the
force that would give a free mass of one gram
an acceleration of one centimeter per second
per second. One dyne equals 0.00001 newton.
Angular velocity is the rate of velocity at which
an object or a particle is rotating around a center
or a specific point in a given time period. It is
also known as rotational velocity. Angular
velocity is measured in angle per unit time or
radians per second (rad/s).

The tension in the string provides the necessary
centripetal force when a piece of stone is tied to
the rope. Now if we leave the end of the string
by hand, the piece runs along the tangent of the
circle, leaving the circular path.

Iron is ferromagnetic (attracted to magnets), but
only within a certain temperature range and
other specific conditions. Iron is magnetic in its a
form. So, most magnetic materials are metals.
Other magnetic elements include nickel and
cobalt.

This is because when rubbed with silk or wool,
there is an electric charge in the comb. We can
generate electric charge in many similar ways.
After inflating a balloon, rub it with paper or
woolen cloth.

The speed of sound will be highest in a solid.
Sound (sound) is a type of vibrations or
turbulence that is transmitted through a solid,
liquid or gas. But mainly those vibrations are
called sound.

The energy generated due to its motion in an
object is called kinetic energy. If the object of
mass m is at speed v. K.E = p2 / 2m where p =
momentum = mv.

Matter of mass means that the mass.

The transformer is based on the principle of
mutual induction.

Intensity of sound at a point is inversely
proportional to square of its distance from the
source.

Trombay was the nymph name of nuclear
blocker.

Light from the star, Alpha Centauri, which is
nearest to the earth after the sun, reaches the
earth in 4.2 years.

Mirage is an optical illusion caused by
atmospheric ~ conditions, especially  the
appearance of a sheet of water in a desert or on
a hot road caused by the refraction of light from
the sky by heated air.

Metals are good conductors of electricity
because. They contain free electrons.
Magnetism at the Centre of a bar magnet is
zero.

Neutrons Out of the which is not emitted by
radioactive substance

The SI unit of intensity of
(iluminance) is the lux.

Point A is at a lower electrical potential than
point B. An electron between them on the line
joining them will Move towards B.

illumination

Web :- https://tesmus.com



http://bit.ly/TesMusPrime
https://tesmus.com/

NDA_GAT_2023

TEST ID - ERS - 878351450

Ans.126(C)

Ans.127(A)

Ans.128(C)

Ans.129(C)

Ans.130(D)

Ans.131(B)

Ans.132(D)

Ans.133(C)

Ans.134(A)

Ans.135(C)

Ans.136(D)

Ans.137(D)

Ans.138(C)

Ans.139(C)

Ans.140(A)
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Roasting is a process of heating of sulphide ore
to a high temperature in presence of air. It is a
step of the processing of certain ores. More
specifically, roasting is a metallurgical process
involving gas—solid reactions at elevated
temperatures with the goal of purifying the metal
component(s).

The outer zone of a flame is blue: It is a non-
luminous zone. In this zone, complete
combustion of the fuel takes place because
there is plenty of air around it. The outermost
zone has the highest temperature in the flame. It
is quite thin as compared to middle zone.
Synthetic cloth catches fire of diyas or crackers.
It also sticks to the body after burning. Whereas
the fire does not spread rapidly in cotton cloth.
Two chemotherapy agents contain the heavy
metal platinum. Carboplatin and cisplatin are the
heavy metal chemotherapy drugs.

Among all metals, gold is the most malleable.
And avoirdupois ounce of pure gold can be
compressed into an incredibly thin sheet that
covers 300 square feet.

Thermoplastics can be repeatedly softened by
heating and hardened by cooling. Thermosetting
plastics, however, harden permanently after
being heated once. Thermoplastic properties:
Examples of thermoplastics include polythene
(PE), polypropylene (PP), polyvinyl chloride
(PVC), polystyrene (PS), nylons, etc.

The gases responsible for acid rain are Sulphur
dioxide (SO2) and Nitrogen (NO). Acid rain
usually forms high in the clouds where sulphur
dioxide and nitrogen oxides react with water,
oxygen, and oxidants.

Carbon dioxide acts as a greenhouse gas,
trapping heat in Earth's atmosphere.

Glass made from composed of approximately
75% silicon dioxide (SiO2), sodium oxide
(Na20) from sodium carbonate (Na2CO3),
calcium oxide (CaO), also called lime, and
several minor additives.

In fact, of all citrus fruits, lemons have the
highest citric acid content.

German Silver is an alloy of copper, zinc and
nickel, sometimes also containing lead and tin.
Stainless steel is an iron alloy with added
elements such as chromium, nickel, silicon,
manganese, nitrogen and carbon.

When zinc reacts with the solution of copper
sulphate, zinc sulphate and copper metal is
formed. In this reaction, zinc is more reactive
than copper, thus zinc displaces copper from
copper sulphate.

The solutions which obey Raoult's Law at every
range of concentration and at all temperatures
are called Ideal Solutions. The Solutions that
show a deviation from Raoult's law are called
non-ideal solutions because they deviate from
the expected behavior.

Sodium hydroxide reacts with zinc and water to
form sodium zincate and hydrogen gas.

Calcium hydroxide, also called slaked lime,
Ca(OH)2, is obtained by the action of water on
calcium oxide. When mixed with water, a small
proportion of it dissolves, forming a solution
known as lime water.

Galena, also called lead glance, is the natural
mineral form of lead sulfide.

Sulfuric acid is widely used in the manufacture of
chemicals, in making hydrochloric acid, nitric
acid, sulfate salts, synthetic detergents, dyes
and pigments, explosives, and drugs.

Ans.141(D)

Ans.142(D)

Ans.143(C)

Ans.144(A)

Ans.145(B)

Ans.146(A)

Ans.147(C)

Ans.148(B)

Ans.149(D)

Ans.150(B)
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Underground stems are modified plant
structures that derive from stem tissue but exist
under the soil surface.

Types include bulbs, corms, rhizomes, and
tubers. Examples of plants that develop from
corms include gladiolus, crocus, and autumn
crocus. A number of underground stems are
consumed by people including; onion, potato,
ginger, yam.

Some of the most important
modifications of stem are as follows:
I. Underground modifications of Stem
Il. Subaerial modifications of Stem
lll. Aerial modifications of Stem.

types of

The various aerial modifications are as follows:
1. Stem tendrils 2. Thorns

3. Phylloclades 4. Cladodes or Cladophylls
5. Bulbil 6. Thalamus

The main parts of a flower are the sepals, the
petals, the stamen, and the carpel. Scion is a
not part of flower.

Monocotyledons commonly referred to as
monocots are flowering plants (angiosperms),
the seeds of which typically contain only one
embryonic leaf, or cotyledon.

It is include not only major grains (rice, wheat,
maize, etc.), but also forage grasses, sugar
cane, and the bamboos, turmeric and
cardamom, pineapple and onion, garlic.

Bulbs consist of layers of modified leaves and
contain a miniature flower or sprout in the
center. Examples of bulbs include garlic, Onion,
tulips, and lilies.

The various aerial modifications are as follows:
1. Stem tendrils 2. Thorns

3. Phylloclades 4. Cladodes or Cladophylls
5. Bulbil 6. Thalamus

The stamen is a male reproductive organ of a
flower. It produces the pollen. The stamen has
two parts: anther and stalk. The stalk is also
called a filament.

Seed germination depends on both internal and
external conditions. The most important external
factors include right temperature, water, oxygen
or air and sometimes light or darkness.

Rain water harvesting is a technique of
collection and storage of rainwater into natural
reservoirs or tanks.
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Directions (1-5) Read each sentence to find out whether
there is any grammatical error or idiomatic error in it.
The error, if any, will be in one part of the sentence.
The number of that part is the answer. If there is ‘No
error’, the answer is (D). (Ignore errors of punctuation, if

any).

1. The sharply diverging price trends (A)/ within the CPI
basket is likely to put the Monetary Policy Committee
(MPC) in (B)/ a quandary on its rate actions in the
coming months. (C)/ No error (D)

2. The new building will have three floors. While (A)/ one
floor would be used as departure and as service area,
the other floors would be used for access for the
terminal (B)/ building and for arrival of passengers, and
as waiting lounge for international passengers, the
airport director said. (C)/ No error (D)

3. The company management headed by GVK Reddy
will (A)/ seek shareholders nod for enabling resolutions
which will permit it to merge the (B)/ airports business,
raise funds through divestment and also come out with
a IPO. (C)/ No error (D)

4. According to Essel Infra projects Ltd CEO and Whole
Time Director Rohit Modi, the total (A)/ enterprise value
of four transmission projects divested to Sekura Energy
is 6,000 crore. The sale is part of Essel Group’s (B)/
plan to expand its footprint in the emerging
infrastructures sectors such as water, railways,
municipal solid waste. (C)/ No error (D)

5. ArcelorMittal was holding (A)/ a significantly stake in the
two companies before divesting in February to make
itself eligible to bid for Essar Steel. However, the
Supreme Court had (B)/ said the company cannot
absolve its liability by selling its stake. (C)/ No error (D)

Directions (6-10) In questions below, there is one statement
consisting of two blanks. You have to choose the option
which provides the correct set of words that fits both the
blanks appropriately and in the same order making
them meaningful and grammatically correct.

6. Banks seem to have cold feet to the idea as
the Reserve Bank of India (RBI) as well as the
government so far not indicated their
contribution to the Fund.

(A) Make, have (B) Made, has
(C) Constructed, had (D) Developed, have
7. In a bid to expand the digital payments eco-system and

the move towards cashless transactions in
the wake of scrapping of the old Rs. 500 and Rs. 1,000
bank notes, the government wants banks to ramp up
of Po’s terminals.
(A) Facilitate, installation ~ (B) Aggravate, conversion
(C) Provide, making (D) Facilitate, destruction

8. There is no drastic in revenues as
commercial production hasn’'t started. Even after the
stake-sale, the interest outgo will continue to be much

than the revenues.”
(A) Refinement, high (B) Increment, greater
(C) Improvement, higher (D) Improvement, bigger

9. The weakness of the banking sector got further
exposed post demonetization, as it coped

huge queues at ATMs and branches, and the RBI
new currency allocation to them.

10.

(A) With, rationed (B) Up, made
(C) Up with, minted (D) With, tried
There no justification in insisting on data

localization in areas like e-commerce and cloud
computing. But there may be a case for adopting data

localization in few sensitive like financial
services.

(A) Is, stores (B) Is, sectors

(C) Are, sectors (D) Are, firms

Directions (11-15) In each of the questions, four alternatives

11.

12.

13.

14.

15.

are given for the Idiom/Phrase. Choose the alternative
which best expresses the meaning of the Idiom/Phrase.

To bring one’s eggs to a bad market

(A) To face a humiliating situation

(B) To bring one’s commodities to a market where there
is no demand for them

(C) To show one’s talents before audience which is
incapable of appreciating them

(D) To fail in one’s plans because one goes to the
wrong people for help

To be above board

(A) To have a good height

(B) To be honest in any business
(C) To have no debts

(D) To try to be beautiful

To throw down the glove
(A) To give a challenge
(B) To accept immediately
(C) To be hopeless

(D) To be in dilemma

Set the pace
(A) Fast pace (B) Slow rate of doing thing
(C) Provide a standard (D) Medium-pace ball

Short of something
(A) Amusing (B) Lacking
(C) Short in height (D) At a short distance

Directions (16-20) In the following Five questions, out of the

16.

17.

18.

19.

20.

four alternatives, choose the one which best expresses
the meaning of the given world and mark in the Answer
Sheet.

Brutal

(A) Sympathetic (B) Compassionate
(C) Humane (D) Savage
Stroll

(A) Walk (B) Jog

(C) Trat (D) Gallop
Eternal

(A) Time being (B) Forever
(C) Temporary (D) Short term
Adversity

(A) Familiarity (B) Misery
(C) Seniority (D) Spirituality
Revel

(A) Reveal (B) Revert
(C) Make Merry (D) Glory

Directions (21-25) In each of the questions, four alternatives
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which best expresses the meaning of the Idiom/Phrase.
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21. To eat humble pic
(A) to apologize
(C) to show kindness

22. To play fast and loose
(A) to talk aloud
(C) to work hard

23. Pay a score
(A) to stay in jail
(C) to play dishonestly

24, in the nick of time
(A) at the exact time
(C) to late

25. Get the better of
(A) throw out
(C) defeat

(B) to request
(D) show weakness

(B) complete and safe
(D) to act unreliably

(B) avenge in injury
(D) quarrel

(B) in advance
(D) long before time

(B) opposite in views
(D) inflict wounds

Direction (26-35) In the following question, out of the four
given alternatives, select the one which is opposite in

meaning of the given word.

26. Launch
(A) Cast
(C) Hold

27. Dampen

(A) Dry
(C) Rinse

28. Compact
(A) Hard
(C) Slack

29. Massive
(A) Large
(C) Solid

30. Vulnerable
(A) Sensitive
(C) Secure

31. Validate
(A) Pass
(C) Corroborate

32. Squander
(A) Hoard
(C) Collect

33. Sulky
(A) Soft
(C) Trustful

34. Cardinal
(A) Essential
(C) Unnecessary

35. Stingy
(A) Smelling
(C) Wasteful

(B) Eject
(D) Project

(B) Spray
(D) Wet

(B) Firm
(D) Tight

(B) Gross
(D) Little

(B) Liable
(D) Weak

(B) Engage
(D) Discredit

(B) Frivol 36.

(D) Defeat

(B) Happy
(D) Dismal

(B) Auxiliary
(D) Negligible

(B) Miser 37.

(D) Dirty

Direction (36-40) Read the following passage carefully and
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answer the questions given below it. Certain words/
phrases have been printed in bold to help you locate
them while answering some of the questions.

The rupee, which is currently the worst-performing
currency in Asia, is finally receiving some help from the
authorities. The Union government, after a meeting with
Reserve Bank of India Governor Urjit Patel, on Friday
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announced a list of measures to arrest the sharp
decline in the currency, which has lost about 12% of its
value since the beginning of the year. These include
steps to curb the import of non-essential goods and
encourage the export of domestic goods, which will
help in addressing the country’s burgeoning current
account deficit that hit a five-year high in July. Other
steps such as removing restrictions on foreign portfolio
investments and encouraging Indian borrowers to issue
rupee-denominated ‘masala bonds’ were also
announced to facilitate the inflow of dollars and de-risk
the economy from fluctuations in the exchange rate.
Further, the term Ilimit imposed on borrowings of
manufacturing companies is to be shortened further in
order to curb dollar demand. The response to the move
from the markets will need to be carefully tracked. Even
before the official announcement on Friday, the rupee
withessed some recovery against the dollar amidst
hopes of favorable government intervention, while
stocks and bonds also recovered.

These steps to strengthen the rupee in the short term
are welcome, given the large-scale outflow of capital
from emerging markets to the West. These ad hoc
steps to avoid an immediate crisis in the external
sector, however, should not deflect attention from the
more fundamental reasons behind the decline of the
rupee. India has been unable to boost exports over the
years for various reasons. At the same time, it has been
unsuccessful in finding sustainable domestic sources of
energy to address the over-reliance on oil imports. This
has meant that the rise in the price of oil has
traditionally exerted tremendous stress on the current
account deficit and the currency, as is happening now.
The government needs to think of a long-term plan to
boost exports, preferably through steps that remove
policy barriers that are impeding the growth of export-
oriented sectors, in order to find a sustainable solution
to the problem of the weakening rupee. The
depreciating rupee is also a symptom of persistently
higher domestic inflation in India over many decades.
For example, in line with vastly different inflation rates
in India and the U.S., the rupee has lost about 60% of
its value in the last 10 years against the dollar. So this
problem cannot be addressed without drastic changes
in the style of monetary policy conducted by the RBI,
which is an unlikely proposition. Until then, the best that
can be hoped for is a steady drop in the value of the
rupee without any drastic shocks to the economy.

What solution has been offered to strengthen the
marred Indian currency?

(A) The Gov has asked the US for some aid which may
ultimately improve the Indian currency.

(B) China has been asked to support the declining
currency as it is the sole reason of the problem.

(C) Steps will be taken to reduce the import of non-
essential goods and encourage the export of domestic
goods.

(D) The new monetary policy will revive and boost the
declining currency.

Why the government has retrained the restrictions on
foreign portfolio?

(A) Because the foreign companies had restricted the
import export flow.

(B) Because this will ease the deals made with foreign
companies which will help improving the declining
currency.

(C) Because the stringent norms were hampering the
growth of Indian economy.

(D) Not mentioned in the passage.
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38. What could be the appropriate title for the given
passage?
(A) The declining rupee 51.
(B) The rupee problem
(C) The dying Indian currency
(D) Perturbing economy
39 Choose the word or group of words which is MOST 52.
NEARLY THE SAME in meaning as the words printed
in bold.
BURGEONING
(A) Expanding (B) Relieving
(C) Relenting (D) Dwindling 53,
40 Choose the word or group of words which is MOST
NEARLY THE OPPOSITE in meaning as the words
printed in bold. 54
IMPEDING )
(A) Hinder (B) Obstruct
(C) Supporting (D) Hamper
Direction (41-50) In the following questions, out of the four >5.
alternatives choose the one which can be substituted
for the given words/ sentence.
41. A man who does not know how to read or write. 56.
(A) Learned (B) llliterate
(C) Poor (D) Dumb
42. A man who knows a lot about things like food, music
and art.
(A) Veteran (B) Humanist 57.
(C) Acrobat (D) Connoisseur
43. A man who waste his money on luxury
(A) Extravagant (B) Extempore 58.
(C) Thrifty (D) Miser
44. A man with abnormal habits.
(A) Lunatic (B) Eccentric 59.
(C) Absurd (D) Profane
45. A medicine to nullify the effect of poison.
(A) Antidote (B) Antibody
(C) Antigen (D) Antibiotic
60.
46. A method which never fails.
(A) Boon (B) Verbatim
(C) Paradigm (D) Infallible
47. A mild or indirect expression substituted for an
offensive or harsh one. 61
(A) Wriggle (B) Sacrilege ’
(C) Euphemism (D) Linguist
48. A mournful poem or a song.
(A) Epic (B) Elegy
(C) Ode (D) Hymn
49. A narrow stretch of land connecting two large bodies of
land. 62.
(A) Peninsula (B) Island
(C) Strait (D) Isthmus
50. A notice of a person’s death.
(A) Obituary (B) Observatory
(C) Ablution (D) Death Warrant
63.
App :- http://bitly/TesMusPrime 4|Page
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65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.
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